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36l HFWHHFINT7KE (60 EoEk)
BEEH . 20244E11 H06 HKIEH
B AR N —75T 6,249 Yard Par 72

&

W R %

TOTAL | JEfL | TOTAL | NET TOTAL | JESZ | TOTAL | NET
wAR =1
391 | 1 - 401 4
K 4 OUT | IN |TOTAL HDCP| NET K 4 OUT | IN |TOTAL |HDCP| NET
£ B K = 38 | 38 76 *| 1.2 |74.8 =1 = 38 | 39 77 *| 12 1758 |
E H F 36 | 40 76 *| 36 724 il & 37 | 42 79 *| 6.0 [73.0
X B i 41 | 37 78 *| 3.6 [744 F B F 11 42 | 39 81 *| 7.2 738
ri= I 51 = 40 | 40 80 *| 7.2 728 X B B = 40 | 41 81 *| 72 1738
B K B X 44 | 37 81 *| 48 [76.2 g % - 42 | M 83 *| 7.2 758
5 A E ZE 42 | 40 82 7.2 |74.8 H T H B & 43 | 44 87 | 12.0 |75.0
TOTAL | JEL | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
MAELR T4
391 2 403 5
E 4 OUT | IN |TOTAL|HDCP| NET K 4 OUT!| IN |TOTAL|HDCP| NET
5 E X B 38 | 37 75 *| 1.2 738 # % = 42 | 36 78 *| 7.2 [70.8
b2 W — 39 | 39 78 *| 4.8 [73.2 " OE E 39 | 40 79 *| 72 718
AN R R 38 | 40 78 *| 60 [720 X HF ¥ = 40 | 41 81 *| 72 |738
B o # - 39 | 41 80 *| 24 |716 w B B I 39 | 42 81 *| 7.2 |738
55 A | i 41 | 39 80 *| 7.2 1728 #H HEH E A X 39 | 45 84 *| 96 1744
oo o= = 48 | 48 96 | 15.6 |80.4 I E 46 | 42 88 | 15.6 {724
TOTAL | JEHE | TOTAL| NET TOTAL | JEfZ | TOTAL | NET
MAEASLL AZEA
392 3 405 6 |366.6 1
K % OUT | IN |TOTAL |HDCP| NET K %4 OUT | IN |TOTAL|HDCP| NET
5 R B R 37 | 38 75 *| 36 |71.4 oW IE BB 39 | 39 78 *| 36 |744%
¥ % B @& = 40 | 38 78 *| 6.0 720 B = & 41 | 37 78 *| 84 |696%
z— ® ® B 40 | 39 79 *| 6.0 [73.0 # x 5 38 | 4 79 *| 60 |73.0*
X B ¥ - 39 | 41 80 *| 84 |716 X H B =B a1 | M 82 *| 72 |748%*
t B 4§ ¥ = 40 | 40 80 *| 6.0 |74.0 oo - = 45 | 43 88 *| 13.2 |74.8*
3] E o — 40 | 47 87 | 132 /738 oW JT 43 | 45 88 | 10.8|77.2




#36m HEHMLIAN T RE (605 EOF)
BEEH © 20244811 A 06 H/KIEH
1 WEHY MY —2 57 6,249 Yard Par 72

&=

TOTAL | JBSL | TOTAL | NET TOTAL | JIEfZ | TOTAL | NET
EAR BRET JI|
408 7 3672, 2 417 10 3714 3
K 4 OUT| IN |TOTAL HDCP! NET K % OUT| IN |TOTAL [HDCP| NET
E ®BH & & 37 | 38 75 * 0 |75.0%* B X 37 | 38 75 *| 36 |714%*
AV | 41 | 37 78 *| 8.4 |69.6* Ok B A 42 | 40 82 *| 84 |736*
/ N e 40 | M 81 *| 84 1726* O B 40 | 46 86 *| 6.0 [80.0%*
g IR E a1 | 41 82 *| 84 [73.6%F /A ¥ 39 | 48 87 *| 12.0 {75.0%
2 W 1IE 46 | 46 92 *| 15.6 |76.4* g R E 11 46 | A 87 *| 15.6 |714*
M B3 ®BOM 51 | 44 95 | 16.8 {78.2 B B R — 45 | 44 89 8.4 1806
|
TOTAL | JBfZ | TOTAL | NET TOTAL | JEfL | TOTAL| NET
KHE SRR
413 8 3782 8 419 i1 13720 4
K 4 OUT| IN |TOTAL|HDCP| NET K % OUT| IN |TOTAL |HDCP| NET
DA N (- S 1 35 | 43 78 *| 24 |756% HOE A =2 36 | 36 72 *| 0 |720%
Mmoo ox = 39 | 40 79 *| 36 |754* . A 38 | 44 82 *| 96 |724%
B BH B O #H 41 | 39 80 *| 6.0 [74.0% &7 7z B 41 | 45 86 *| 10.8 [75.2*
m £ X X 43 | M 84 *| 96 |744% H £ E & 42 | 46 88 *| 8.4 1796
B & X X 48 | 44 92 *| 13.2 |788* H # # X 45 | 46 91 *| 16.8 |74.2%
B B X R 48 | 46 94 | 14.4 |79.6 T % B\ = 50 | 45 95 | 16.8 |78.2*
|
TOTAL | JBfL | TOTAL!| NET TOTAL | JBfZ | TOTAL | NET
HFEA KR
414 9 13804 9 421 12 |3742, 5
K 4 OUT| IN |TOTAL |[HDCP| NET K 4 OUT | IN |TOTAL|HDCP| NET
A F M = 39 | M 80 *| 48 |75.2% E B #® X 37 | 39 76 *| 1.2 |748%
= t F E 43 | 39 82 *| 72 1748* Hm B B — 40 | 41 81 *| 7.2 |738%*
N B — K 42 | M 83 *| 36 [794% B R OBE X 43 | 41 84 *| 84 |756%
7 { N N < I a1 | 42 83 *| 84 |746* B A 45 | 44 89 *| 144 |746*
E H # 43 | 43 86 *| 96 |764% 15 I - - " 46 | 45 91 *| 15.6 |754*
s B X £ 47 | 51 98 | 16.8 [81.2




. R N > 2\ 2 G
m3ehm TEAHEINTZKE (60 L&) iz
EEEH . 20244211 H 06 H KIEH
S B PWEHY MY —F ST 6,249 Yard Par 72
TOTAL | llBL | TOTAL| NET TOTAL | JEfiL | TOTAL | NET
> BB
422 13 13858 11 453 16 1382.2, 10
K 4 OUT | IN |TOTAL |[HDCP| NET K 4 OUT | IN |TOTAL HDCP| NET
= B &5 — 39 | 41 80 *| 6.0 |740%* £ 7T 43 | 44 87 *| 12.0 |75.0*
g B B — 40 | 42 82 *| 36 |784%* & H = 43 | 44 87 *| 12.0 |75.0*
) 1 42 | 41 83 *| 6.0 [770* E OHF B & 46 | 43 89 *| 10.8 |78.2*
B W & B 43 | 41 84 *| 84 |756% E & A A 45 | 49 94 *| 204 [736*
OB/ M W 46 | 47 93 *| 12.0 {81.0 » KX F B 51 | 45 96 *| 15.6 |804*
# O £ - 44 | 50 94 | 132 |808*
TOTAL | IEfL | TOTAL | NET
AZEB
426 14 (3744 6
K 4 OUT | IN |TOTAL [HDCP| NET
2 XA ah 39 | 43 82 *| 84 |736%
mox F = 42 | 41 83 *| 8.4 |746*
=5 A ;X %X 42 | 42 84 *| 13.2 |708*
X & B B 40 | 47 87 *| 96 |774%
B % & = 45 | 45 90 *| 12.0 |78.0*
o B - 46 | 45 91 | 12.0 |79.0
TOTAL | EfL | TOTAL| NET
FHE
433 15 13778 1
K 4 OUT | IN |TOTAL |HDCP| NET
X & B B 37 | 46 83 *| 13.2 |69.8*
X B # B 44 | 40 84 *| 120 |720*
/8 B & X 46 | 4 87 *| 120 |75.0*
i OB H B — 45 | 44 89 *| 10.8 |78.2%F
X A ™M z 43 | 47 90 *| 72 [828*




